Assembly Instructions

W

~
L

Dresser

A

P—

01



We want you to be completely satisfied with your purchase! If anything is missing, damaged, incor-

rect, or not what you expected, don't worry.

Assembly Instructions:

1. Carefully read these instructions and keep them for future reference.

2. Refer to the parts list for guidance and ensure that you have all the pieces before starting the
assembly process, if anything is missing, damaged, incorrect, contact us FIRSTLY BEFORE assembling.
3. When assembling, place all parts on a soft, clean, and flat surface, such as a carpet, to prevent any
scratches.

4. To avoid misalignment of the holes, Please don't full tighten the screws until you ensure all parts in
place.




P-03




Pa

rts
&
H

ardw
are
Lis
t

[T

=3
O

Z

//
@Wpc @2
pC
o
AD1p
C 1pC
7 e =
2pc \ @
Tpc
@QPC O
:®? Ipc
pe ||||||||||||||||||||||||||||||||||||||||||i @®3pc w 1
pC
dis
1pc
B 2pc
Z
2pc \|
-
pC

N
O
O




Hardware List

M5x42 M15x12 M7x40 M6x12 M6x30 M3.5x14 M14x5.2
@ i E g ] T o
w-1 w-2 w-3 w-4 w-6 w-7 w-8

52 PCS 52 PCS 20 PCS 2 PCS 2PCS 11 PCS 6 PCS
350mm M8x40
AN ©
w-8 w-8
1 PCS 2 PCS
|
|
I
|
& "
= I
S S l
w-4 w-8 S
2PCS 2 PCS

P-05




@

w-1

i

WwW-2

@ 6 PCS 6PCS

w-1

w-2

5PCS 3PCS

P-06




4 PCS

@ 2 PCS

TN

w-7

w-8

07

3 PCS 1PCS




]

w-1 w-5 w-6
2PCS 2PCS 3PCS 2PCS

®

8 PCS 8 PCS P08




8 PCS

P-09

9 PCS

9 PCS




w-3

4 PCS







w-1 w-2
8 PCS 8 PCS P_07

w-1
4 PCS 4 PCS P-12




/" push the iron sheet to
the top ,and you can put
the drawer in smoothly.

press down
the device on
the guide so

that the /
drawer can be A
removed from A
the filing \
cabinet. N

.

If the drawers do not run
smoothly,please loosen the
screws,and a little bit adjust the
rail.

18






